[ Domification: placidus

Pleine-Lune du 17 Décembre 2013

a 09H29mn & PARIS (FR)

- Zodiaque: tropique ]

: Bélier

: taureau

: Gémeaux
: Cancer

: Lion

: Vierge

: Balance

: Scorpion
: Sagittaire
: Capricorne
: Verseau

: Poissons

: Soleil

: Lune

: Mercure

1 Vénus

: Mars

: Jupiter

: Saturne

: Uranus

: Neptune

: Pluton

: Noeud Nord
: Lune Noire
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Aspects:
. e . Soleil conjoint Mercure (6,6 DEG)
Positions planétaires: Maisons: . .
Soleil opposé Lune (0,0 DEG)
® Soleil 25 DEG 36 MN Sagittaire s XI | 21 DEG 58 MN Capricorne | Lune opposé Mercure (6,6 DEG)
€ Lune 25 DEG 37 MN Gémeaux T \% Il 15 DEG 03 MN Poissons Vénus conjoint ASC (6,6 DEG)
?_ﬁ Mercure 18 DEG 59 MN Sagittaire  »* Xl Il 26 DEG 41 MN Bélier Jupiter opposé ASC (3,9 DEG)
? Vénus 28 DEG 35 MN Capricorne /3 | IV 23 DEG 09 MN Taureau Saturne sextile ASC (3,0 DEG)
' Mars 04 DEG 48 MN Balance £x VIl \Y, 12 DEG 51 MN Gémeaux Saturne conjoint MC (4,2 DEG)
ll. Jupiter 17 DEG 58 MN Cancer gs R VI VI 00 DEG 51 MN Cancer Jupiter trigone MC (5,1 DEG)
N Saturne 18 DEG 56 MN Scorpion I, IX VIl 21 DEG 58 MN Cancer Mars opposé Uranus (3,7 DEG)
ﬁ Uranus 08 DEG 35 MN Bélier q° Il VIII 15 DEG 03 MN Vierge Jupiter opposé Pluton (7,2 DEG)
‘f Neptune 02 DEG 54 MN Poissons X | IX 26 DEG 41 MN Balance Mars carré Pluton (5,9 DEG)
K_CF’) Pluton 10 DEG 45 MN Capricorne 3 Xl X 23 DEG 09 MN Scorpion Uranus carré Pluton (2,1 DEG)
¢2 Noeud N 05DEG 02 MN Scorpion M, IX Xl 12 DEG 51 MN Sagittaire Vénus trigone Mars (6,2 DEG)
@ Lune N 21 DEG 20 MN Cancer s \ Xl 00 DEG 51 MN Capricorne | Jupiter trigone Saturne (0,9 DEG)
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